
=DáąF]QLN�1U��

*PLQD�-DQLNRZR

3/$1�'2&+2'Ï:�=�7<78à8�23à$7�=$�=(=:2/(1,$�1$�635=('$ĩ�$/.2+2/8

3ODQ�QD������URN

SODQ�URNX�����

'RFKRG\�UD]HP ����������
']LDá���� 'RFKRG\�RG�RVyE�SUDZQ\FK��RG�RVyE�IL]\F]Q\FK�L�RG�LQQ\FK�MHGQRVWHN ����������

QLHSRVLDGDMąF\FK�RVRERZRĞFL�SUDZQHM�RUD]�Z\GDWNL�]ZLą]DQH�]�LFK�SRERUHP
5R]G]������ :Sá\Z\�]�LQQ\FK�RSáDW�VWDQRZLąF\FK�GRFKRG\�MHGQRVWHN�VDPRU]ąGX�WHU\WRULDOQHJR ����������

QD�SRGVWDZLH�XVWDZ
������ :Sá\Z\�]�RSáDW�]D�]H]ZROHQLD�QD�VSU]HGDĪ�DONRKROX ����������

'(/),1�V�F��WHO������������� �


